hEFNLD&FL HERTRH

£ 20 R B9 R TIHEESCYVEL,
60 R~T9 RIIBES LBV |,

ZHEY) TR

B91 x2—3x+1=0 ZfEl7,

fiil 2

FEOEEK TR ENDLKORmE L RO S
W, 7272, FEMOKZIEM O TH D, =

(& B

M3 ToOKT, HAOEEI(—2, 3), 5 BOEEI(—4, —2), S D OFEEIZGB, 27T
»H5, MWAK ABCD RYATIMUETH S L=, 8 C DOEEES y
RO,

M4 KN 2ODOEZNWZAZEFIFIZ1IERITSEE, KEWVWEWZADHDHOHE a, /)
SNSWZAOHDLIBDEE D T 5D,
ZoEE, S (@ b) A, ERy=—x+5LIlHDIMERERDRE W,

5 o TWAB4E&T, Ya—2—2%8HEY L, 22045, 10 HE 5 & 1 E5]
TR DHDT, 60 HED, FFo TWAEBE&IIMHEN KD X, 72720, HW25 3070
ERIDERINCENTOL HEXESLD, B2 2Rk ELEL Z L,



hEFNLD&FL HERTRH

£ 20 R B9 R TIHEESCYVEL,
60 R~T9 RIIBES LBV |,

M5 Ya—7V—A1HEOERExAL TS,
8x-+220=10xX 0.9+ 60
8x+220=9x+60

x=160
FoTWnakaid,
8% 160+220=1500
CHIFHEIZE L TV,

& 1500 M




